H &0l & At M M
017HE =2 1 5] YLalH Bree skl
S slrer skl
M B2 (BYT-5A)
Shol: D=3l (Sl &)
2N -3 - AA(3) - HRAY - BES Ofl &kt J|1HH HwES2
RN 11,023,727 9,475,435 1,548,292
2 263,000 263,000 0
7 1,051,000 1,060,500 £9,500
o] 1,220,000 1,220,000 0
= 1,438,000 1,439,350 A1,350
2 7,051,727 5,492,585 1,569, 142
H S (BB cotal) 50,300 49,670 630
SJEET 50,300 49,670 630
Jl= 3| 50,300 49,670 630
201 k2| 37,340 3,710 630
01 ArR a2l 35,340 3,710 630
O SY(BYe oA RET)
8,00021%2101x304} 5,040 4,410 630
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HUQISTA ABA 1,745,000 1,700,000 45,000
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S BB ShAl
MM So|PUE AL 29
ol So|BUE AlM 2.2 EEE R
2N -3 - AA(3) - HRAY - BES Ofl &kt J|1HH HwES2
SO|BAE MENEESE TAAY 20,000 0 20,000
401 AIEBI L2 TH| 20,000 0 20,000
01 Al 20,000 0 20,000
O SOUBAE MEHSISE T4 AL
20,000,000 20,000 0 20,000
oot BYMEHTSAY 330,000 415,000 185,000
X 231,000 290,500 159,500
= 30,000 37,350 AT7,350
z 69,000 87, 150 118,150
401 AIEBIL2TH| 330,000 415,000 185,000
X 231,000 290,500 159,500
= 30,000 37,350 AT7,350
z 69,000 87,150 118,150
01 Al 330,000 412,012 182,012
O 83t EYUETLAY 330,000, 0002 330,000 412,012 £82,012
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= 30,000 37,350 AT7,350
2 69,000 84, 162 A5, 162
03 Al&=CHH| 0 2,983 £2,98
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01 Al 100,000 0 100,000
O ESHWSA CIRHAIL AYTBA( AL B
) 100,000, 0002 100,000 0 100,000
siyiEY el 29 669,542 626,948 42,5%
X 200,000 200,000 0
= 60,000 60,000 0
z 409,542 366,948 42,5%
s 22l 269,542 226,948 42,5%
101 21218 109,900 87,685 22,215
TE EE=LES 109,900 87,685 22,215
O SHURIIESY H4D| Al QI 22,215 0 22,215
07123 51,7602+501x702 18,116 0 18,116
0 FXAG 51,760 2+501x62 1,553 0 1,553
0 201013 19,669, 00024x4. 5% 836 0 886
0 AL TE 19,669, 000243, 035% 597 0 597
0 DE=E 19,669, 00021.3% 256 0 256
EIEE 19,669, 0002 +4% 787 0 787
0 LFI|2UBHE 597, 0002143 275% 20 0 20
201 LBr2Yy| 152,442 132,063 20,379
01 ArR 22| 67.716 47,337 20,379
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